AN
AYd

HANSH

51722178 HANSADESIGNO - Wastafelkraan

EAN: 4015474184978
statichansa.com/51722178

e Wastafel
e Eengreeps

e Wastafelmontage

Chroom
CASCADE® mousseur

-

Technische gegevens

Technische eigenschappen

Warmwatertoevoer
Werkdruk

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

max. +80°C

0.5-10 bar

112


https://static.hansa.com/51722178/nl

< HANSH
N
Reserveonderdelen
SP51712173
Naam Code
1 Hendel, 70 mm 59913331
11 Schroef, M5x35 59913299
14 0-ring, d 3x1.5 59913100
51 15 Kap Chroom 50913332
15 Kap Zwart Stopgezet 59913333
15 Kap Wit Stopgezet 59913334
2 Kap Chroom 59913364
ar 21 Glijring wit 59913363
22 0-ring, d 38x2 59913212
3 Schroef, M42x1, SW34 59913365
] 4 Binnenwerk, 3.5 Eco 59912324
59-o5 4 Binnenwerk, 3.5 Classic 59913075
ﬁ 6.1 41 Temperature adjustment limiter 59912325
== 42 0-ring, d 28.24x2.62 Stopgezet 59912590
587 [ 0-ring, d 10.10x1.60 Stopgezet 59905072
5.12 5.1 Kogelstang Chroom 59913362
H 52 Gewrichtstuk 59904624
L E>- 53 53 0-ring d36.09x d 353 59913396
57 G55 53 Wasser 59914591
@7 - 55 Fixing plate 59904765
56 Schroef, M8x1, SW13 59904766
5.7 Bevestigingsset 59910749
58 Flexibele aansluitingen, L=500, G3/8-M10x1 59911767
58 Koppelingsbuisdeel], M10x1, L=480 59913368
5.9 0-ring, d 7.65x1.78 59902337
512 Bevestigingsschroeven, M8x1, L=140 59912474
6.1 Mousseur, M18.5x1, T) 59913366
6.2 Schuimstralersleutel, M18.5 59913367
7 Wastegarnituur Chroom 59911441
NI Sleutel, SW30/34 59912108

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

212



